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Abstract:

In this paper we shav how coordinationfailuresmay explain the prevalenceof child laborin developing
countries We do sowithin a simplegame-theoretisetup.Child laborarisesin our environmentbecausef

thelack of acoordinatiormechanisnbetweerparentaddecisiongo investin the humancapitalof their chil-

drenandfirms’ decisiongo investin skill-intensive technology Governmentapoliciesthathelpcoordinate

expectationshouldleadto the disappearancef child labor
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1 Intr oduction

In this paperwe shav thatchild labormay arisebecaus®f the lack of a coordinationrmechanisnbetween
parentaldecisionsof sendingtheir childrento schoolandfirms’ decisiongo investin the adoptionof skill-

intensve technology

Ouramgumentreliesonthefollowing facts.First,in anervironmentin which childrens time hasaneconom-
ic value,educatingchildrenpresentshe parentswith anopportunitycost[Rosenzweig1990)]. Secondthe
rewardfrom childrens educatiorwill arisein thelongtermprovidedfirms have investedn technologythat
requireshigh-skill workersin the meantime. Third, investingin an economywith low humancapitalis a

risky venture.

Thesimpleone-shogamedepictedn Figurel betweerafirm andparentsapturesheabove factsandmay
be usedto guide our agument. In eachbox, the first and secondnumbersarerespectrely the payofs of

parentsaandthefirm. We shouldthink of themasuitils.

Figurel:

Firm

Invests Doesnhot

Child labor | 2, -20 2,0
Parents

Education| 5,100 -1,0

In this game therearetwo Nashequilibriain purestratgies? In thefirst one,parenthoosenotto investin

humancapitalandthefirm notto investin skill-intensive technology The secondwhich Paretodominates
the first, hasboth parentsandthe firm invest. Although both equilibria aretrembling-handperfectin the
senseof Selten(1975),reachingthe Paretosuperiorequilibriumis no easymatter In additionto the usual
assumptionsn the rationality of agentsandthe commonknowledgeof thatrationality? it requiresno less

thanthefollowing propositions:

INote thatthereis alsoa Nashequilibriumin mixed stratgjiesin which the firm investswith probability% andparentssend
their childrento work with probability g.
2/ propositionis commorknowledg amongplayersif it is known to all playersit is known to all playersthatall playersknow

it, andsoon ad infinitum



1. Thefirm believesthatparentsareinvestingin the educatiorof children.
2. Parentsbelieve thatthefirm is willing to invest.

3. Boththefirm andparentghink thatthe otherthinksthatthey think theabove, etc.

Shortof arny of theserequirementsthe Paretooptimal Nashequilibrium may not be attained.In particular
it is sufiicient that parentsdo not quite trust the firm for a socially bad outcometo arise. Eachplayer
would wantthe otherto move first, yet investmenin physicalor humancapitalrequiressubstantiatime-
to-build. For thesereasonsgcoordinationmay be at fault. Governmentaintervention may be necessaryo
helpcoordinatexpectationsBy establishingnandatoryeducatiorprogramsfor example,thegovernment
will senda signalto firms that investmentdn humancapital are beingmade. Without suchcoordination

mechanismparentsaandfirms may never choosethe socially optimalactions.

Naturally this simple gameis hardly a good representatiomf the actualgamebetweenparentsand en-
trepreneursYetit providesa goodillustration of the coordinationproblem. The necessargoincidenceof
beliefsanditerationssuchas“I-think-that-he-thirks-that--think-that..” to reachthe Paretooptimal Nash
equilibrium may simply be too muchto ask, especiallyif the costsof foregonechild labor are large for

parentsn theshort-run

Pointing to the Paretooptimal Nashequilibrium as a focal point in the senseof Schelling(1960)is not
sufficient for it to be reached.For mary African countries,for example,the statusquois the “bad” Nash
equilibrium. In 1980the averageyearsof schoolingamongindividuals aged25 andup was 1.5 in Sub-
Saharanfrica, comparedo 9.1 in industrializedcountries. Tenyearslater, in 1990,the gapin average
yearsof schoolingbetweentheseregions hasincreasedrom 7.6 in 1980to 8.4 in 19904 On the other
hand,accordingto the World Bank (seeWbrld DevelopmenReport1999/2000) during the period 1980-
1990,averageannualgrowth of industrialvalueaddedwvasa dismal0.9%in Sub-SaharaAfrica, compared
to 9.5% in EastAsia andthe Pacific for the sameperiod, suggestinga lack of technologicalchangein
theformer Finally, the InternationalLabor Organization(1998) reportsthat child labor is mostly a rural
phenomenon70% of all child laborersareinvolvedin agriculturalproduction,in regionswherefirms are
typically non-&istent. All thesereasonssupportour agumentthat the statusquoin African countriesis
an equilibrium with child labor and no investmentin skill-biasedtechnology Seekingthe “good” Nash

equilibriumimplies a changeof behaior by all players. The goodequilibriumwill only be reachedf all

3The Paretooptimal Nashequilibriumis evenmoredifficult to achiere if we considerthe needfor coordinatioramongparents.
Indeed parentamayfacefreeriding incentivesin thefollowing senseremaving your child from the labor market, ceterisparibus,
hasa positive effect on thewageof childrenremainingon thejob.

“Source:UNDP annualreport,1991,1992,1993.



playershave the properexpectationsaboutthe behaior andthe expectationsof the others. Sincethe cost
involvedin thetransitionfrom thefirst to the secondequilibriumis substantialit mayactasa deterrentor
someor all of the players. The weight of pastbehaiors andtherisk involved in changingbehaior may

make the statusquoa muchbetterfocal point thanthe Paretooptimum,in this particularcase.

For parentdo find it optimalto choosesducationn the gameof Figurel, it is necessaryhatthey assigna
subjectve probabilityto the firm investing,higherthanonehalf. Thisis the only rangeof beliefsconsistent

with achoiceof sendingchildrento schoolin this game.Reasonsvhy beliefscouldbedifferentabound.

First, sincein mostAfrican countrieghereisn't a pasthistory of firms investingin technologieshatrequire
skilled labor, parentsmay be inclined to considerthis event a low-likelihood event. Moreover, sincethe
firm itself is ableto infer that, for educationto be a rationaldecision,parentsneedto assigna subjectve
probability of atleastonehalf to its choiceof investing,the firm mayitself putalow subjectve probability
on this possibility given the history behindthe game. In suchcase,given its beliefs, andits beliefs of
the others’beliefs,the firm mayfind it optimal not to investin the economy Parentsareableto infer the
reasoningf firms, which pushegurtherdown thesubjectve probabilitythatthefirm will invest. Giventheir
beliefsparentamayfind it optimalto stick to child labor We have thusillustrateda way the coordinationof

expectationgnaytake place,leadingto the Nashequilibriumwith low humancapitalandno investment.

Second parentsin the gameof Figure 1 are ableto obsere that investmenton behalf of the firm is far
morerisky thanno investment. Parents’assessmertf the subjectve probability that the firm will invest
will reflectthis obsenation. Similarly, the firm is ableto obsere thatchild laborfor parentss alessrisky
choicethaneducation Again, thefirm’s subjectve probabilitythatparentswill sendtheir childrento school
will reflectthis obseration. Now thefirm knows thatparentsknow thatinvestingis risky. Parentsknow that
thefirm knowsthateducatioris risky. If anyonehasary reasorto suspecthe othersto be quiterisk-averse,
theformer’s subjectve probabilitythatthelatterwill take arisky decisionwill bedownplayedsubstantially
As a consequencehey themseleswill make thelow risk decisionasa bestresponsdo their belief of the

others’behaior.

Child labor arisesin this ervironment,not necessarilybecausef a failure to coordinateexpectationsand
actions,but ratherbecausef eithera coordinationof playersto the Paretodominatedequilibrium, or an

inability of playersto coordinategowardsthe Paretosuperiorequilibrium.

Our agumentrelieson the assumptiorthateducationis only worthwhileif thereis a market for high-skill
laborattheexit. This market, however, will only developif firmsinvestin technologythatrequiresskilled
labor Thataneconomys deficieng in skill-intensive technologiesnayberelatedto deficienciesn individ-

uals’ investmenin humancapitalhaslong beenrecognized Works by Lucas(1988,1990)lend substantial



supportto this fact. Becauseof the interdependencm the incentvesfor both forms of investmentan e-
conomycanbecometrappedn alow-skill, child-laborequilibrium,dueto the market failureto coordinate

agents’complementarynvestmendecisions.

How economicagentscoordinatetheir choicesandtheir beliefs so asto corverge to one outcomerather
than others,is a very difficult question. A large body of researchhasfocusedon this issue. Bicchieri
(1993)providesathoroughsuney of thatfield andestablishethe necessaryequirementgor a givenNash

equilibriumto bereachedBeliefshave centerstagein the procesf coordinatior’

Therestof the paperis organizedasfollows. In Section2, we briefly discustherpossiblesxplanationgor
child laborthathave beenraisedin theliterature.In Section3, we build a moregeneralmodelin the spirit
of this introduction,andcharacterizeéhe setof equilibria. In Section4, we discusspolicy implicationsand

conclude.

2 The origins of child labor

Severalexplanationshave beenproposedor the useandprevalenceof child laborin developingcountries.
In Basu& Van (1998), parentsdislike child labor, but aredrivento it to make endsmeet. Dessy& Ven-
catachellum(2000) develop a modelwherechild labor in equilibrium comesfrom network externalities.
Pallage& Zimmermann(2000),in atwo-countrymodelwherechild laborin onecountryexertsa negative
externality onthe other explorethe possibilitythatchild laboror ratherits banmaybe usedstratgically so
asto extractaform of compensatiofrom theothercountry Basu(1999)providesasuney of possibleother
causesincluding socialnorms[a modelthatincorporatesocial stigmaandthe needto conformis found
in Lopez-Cala (1999)]. Genicot(1998)builds a theoryof child labor basedon efficienoy wages.Baland
& Robinson(2000)shav thatchild labormay arisebecaus@f commitmentproblemsbetweerparentsand
children.In thepresenpaperwe exploreanotherxplanationfor the prevalenceof child laborin poorcoun-
trieswhich is likely to be key in the presencef multiple equilibria: the absenceof explicit coordination

mechanisms.

Our paperdiffers from previous studiesalsoin otherdimensions.On the welfare side, eliminating child

SCoordinationandthe selectiorof equilibriaarethe motivationsbehindAumann(1987)andHarsaryi & Selten(1988)sessays.
Aumannadoptsthe Bayesianview that beliefsaboutthe stratgiesopponentsare playing canbe formalizedby probabilities,and
offers his correlatedequilibrium conceptasa way to reconcilegametheoryandBayesiarrationality The origin of beliefsis not
explained, however. Harsani & Seltensuggesta gamesolution conceptthat always reducesthe numberof equilibria to one.
Uniquenes®f equilibrium,howvever, without anappropriatesetof beliefsby the players.is no guaranteethatthatequilibriumwill

bereached.



laboris a Paretoimprovementin our model: both parentsandfirms benefitfrom its elimination,while in
Basu& Van(1998),it is not clearwherethe interestof firms stands.Moreover, we shaw thatcompulsory
education,combinedwith the properincentves, is often sufiicient to warrantthe disappearancef child
laborin our model. In Baland& Robinson(2000),banningchild laborcanbe a Paretoimprovementin an
environmentwherechildrencannotcredibly committo transferpartof their (higher)incometo their parents
in orderto compensatéhemfor nothaving sentthemoutto work aschildren.However, sincetheemepgence
of alternatve mechanismsor financingparents’retirementconsumptiorcansolve the transferproblemin
the parent-childremelationshipjt is not clearin their modelwhetherbanningchild labor Paretodominates

the public provision of retirementenefits.

3 The model

We studyan economywith two typesof agentsworkersandentrepreneursa formal market whereadults

work andaninformal sectoy wherechild labortakesplace.

3.1 Thelabor market

1. Workers

Theworking populationis madeof overlappinggeneration®f workers. In every period,a continuuml of
workersis born. Eachworker belongsto a householdconsistingof one adult (the parent)and one child.
Workersareidenticalwithin eachgeneration.As a child eachindividual hasan endavmentof oneunit of
time outsideleisuretime. This time endavmentis allocatedeitherto work, or to schoolingfrom which the
child gainsproductve skills which mayenablehim to work asa skilled worker, whenadult. Thedecisionon
childrens time useis madeby the parent,andfor simplicity childrens consumptioris normalizedto zero.
We denoteby e; € [0, 1] thefractionof achild’s time allocatedto receving education Educationis free of
chage. Henceforth,all variableswith subscript0 (respectiely, 1) denoteadults’ (respectrely, childrens)

variables.

If achild spendsa fractione; of his time receving an educationuponenteringadulthood he will gaina
level of productve skill givenby thefunction¢(e;), where¢’ > 0, ¢" < 0, and¢(0) = 0. Theremaining
fractionof thechild’stime,1—ey, will beallocatedo work in theinformal sector For simplicity, weassume
thatincomefrom child laborsourcess givenby therelationy; = 1 — e; describingthe unitsof theunique

consumptiorgoodthata child who devotesanamountof time 1 — e; to unskilledlaborcanproduce®

®This correspondso a situationwherechildrentake emplgymentin the informal sector for example,as streetvendors,shoe



The representate parentis risk-neutraland altruistic toward his child in the sensethat he caresabout
his child’s incomewhen adult, in addition to caring abouthis own consumption. The von Neumann-

Morgensterrutility functiondescribingparents’payofs associatedvith eachoutcomejs givenby:

Up = (co — s) [n + Blog(w1)], n>0,0<8<1,

wherecy denotesthe representate parents consumptionlevel, s is the subsistencédevel for adult con-
sumption,w; denoteghe next periodrealizedlaborincome,n is a positive preferencescaler § is thetime
discountfactor Eachparentalsohasanendavmentof oneunit of time which is inelasticallysuppliedto
work. A stratgy for a parentis a choiceof child’s time allocatedto educationg; € [0,1]. A parentwith

laborincomew, facesthefollowing budgetconstraint:

co <wy+ (1—eq).

This budgetconstrainimpliesthatthe foregoneincomefrom child laborsourcesegy, is the only (indirect)

costof educatinga child in this ervironment.
2. Entrepreneus

On the productionside, thereis a continuuml of identical entrepreneursvho producea homogeneous
final goodaccordingto eithera skill-biasedtechnologyor onethat usesunskilledlabor We assumehat

entrepreneurarebornin sequencesf non-oserlappinggenerationsndlive for two periods.

Thestructureof the formal adultlabor market follows Acemoglu(1994): assignmenis governedby a two-
sidedrandommatchingprocesswith an exogenousnatchingfunction and an exogenoussurplussharing
rule.” Thetwo-sidedrandommatchingis one-to-onébetweerentrepreneurandadultworkers. Thesurplus
generatedby a match,which we denoteasY’, is divided betweerthe two agentswith afractiona € (0,1)
goingto the entrepreneymwhile theremainderl — «, goesto theworker. Thelabormatchingis suchthat
no formal productive resourcas left idle. Childrendo not enterthis matchingprocessWhenworking, they

do soontheinformal market.

Assumethatin period0, thefirst periodof life of thefirst generatiorof entrepreneursll entrepreneurare
only operatingthe unskilled-labortechnology Denoteby Yy = A, thetotal surplusgeneratedy a match
betweera worker and an entrepreneuoperatingthe unskilled-labortechnology whereA > 0. In period

0, therepresentate entrepreneudecidesvhetheror not to devote an exogenoudractiony of his shareof

polisher luggagecarriers etc,which doesnotrequireary skill, nor contrituteto skill formation[seeSwaminathar(1998)].
"For a similar model,seeRedding(1996). The authoranalyzeshe relationshipbetweerR&D investmentsandhumancapital

accumulatiorwithin anendogenougronth modelandshavs thatmultiple equilibria canexist.



period0 surplusto the acquisitionof a skill-biasedtechnologywhichit will operaten period1. Acquiring
askill-intensie technologywill yield period1 total surplusY; = Aexp [¢(e1)]. Onceinvestmenthastaken
place,the technologywill lastforever andit will be transmittedto the next generationof entrepreneurs.
Since¢(0) = 0, if therepresentate entrepreneutdecidego devoteresource$o acquiringtheskill-intensive
technologyshefacestherisk of alossin the eventthatthe representate parent,at period0, electednotto

investin his child’s acquisitionof productve skills (i.e., full time work is preferredto schooling).

In the cominglines, we characterizehe setof equilibriain this economy To do so, we solve successiely

the parents’problemandthefirms’.

Definition 1 (Equilibrium) A Nashequilibriumin pure strategiesin this modelis a choiceof pure strate-
giesfor parentsandfor firmssud that (i) the choiceof parentssolvegheir maximizatiorproblemgiventhe
choiceof entrepreneus, and(ii) the choiceof entrepreneus maximizesheir objectivegiventhe strategy of

parents.

3.2 Bestresponses

1. Therepresentativegparent

To decidehow mucheducationthe child shouldreceve (if ary), the representaie parentchoosesa best
responsedo all possiblechoiceshby entrepreneurs.For the sale of presentationwe definean indicator
function i takingvaluel if entrepreneuradoptskill-intensive technologies( otherwise.Alternatively, u
canbeunderstoodastherealizedprobability associatedvith the eventthatthe representate entrepreneur

will operatea skill-intensive technologyin period1l.

Thenext periodlaborincomeof a child who attendsschoolin the currentperiodfor afractionof time ey is

wi(er;pu) = (1-a)Aexplp(er)] ifu=1
, (1-a)A it 4= 0

Sincea child’'s time hasan economicvaluein this environment,ary stratgy e; > 0 is risky for parents:
in theeventthatno firm investsin the acquisitionof the skill-intensve technologythe householdwill lose

incomebecaus®f the foregonechild labor

Let ¢(e1) = e1. Usingthe budgetconstraintwe canrewrite therepresentate parents utility asfollows:

Up = [wo + 1 —e1 — s][n + Blog(wi(e1; 1))]
Now, supposéherepresentate entrepreneuplaysthe stratg@y p = 1, thentherepresentate parents best

7



responses describedasfollows, dependingon the subsistencparametes:

0 if w<s
e1=1 27 (w—3s) iIf w<s<w (1)
1 if w>s

wherew = (1 —a@)A—1-1,w = (1 — a)A +1 -7, andij = [n+ log(1l — a)A] 3~1. Equation(1) is

obtainedby takingthefirst orderconditionsfor the maximizationof U, subjectto theconstrainthaty = 1.

Equation(1) impliesthat,evenwheny = 1, it maystill be optimalfor therepresentate parentnotto send
his child to school. In particularif w < s, it is optimal, from the point of view of the parent,to favor
child labor (i.e., e; = 0). Thisresultis consistenwith the so-calledLuxury Axiom[Basu& Van (1998)].
It impliesthathouseholdsurvival considerationsemperthe extentto which coordinationproblemsarean
issuewhenit comego decidingon childrens time use.The Luxury Axiom in this environmentimpliesthat

for very poorhouseholdsgoordinatiorproblemsarelessof anissue®

Supposaext thattherepresentate entrepreneuplaysthestrat@y p = 0. Thentherepresentate parents
bestresponseés to chooses; = 0, evenwhens < w. Clearly subsistenceés nolongeranissue sotheonly
reasorwhy parentsdo not sendtheir childrento schoolis thatthey anticipatethatthe firms will notinvest.
Coordinationof investmentdecisionsis at fault in this case. Thereforein orderto keepthe focus on the
issueof investmentcoordinationbetweenagentswe specializethe analysisto the casewheres < w. The

following assumptiorguaranteethatthis conditionis alwayssatisfied:

Assumption1 s = 1 andtheparametersy, 3, 7, and A satisfy(1 — o)A — 77 > 2.

Assumptionl alsoimpliesthatif therepresentate entrepreneuplaysthestratgy i = 1, therepresentate

parents bestresponsés to play thestratgy e; = 1.
2. Therepresentativeentrepreneur

Let V(y) denotethe netvalueof theentrepreneuwwhenshechooseso invest(i.e., afraction-y of theperiod

0 surplusis devotedto the acquisitionof the skill-intensive technology).Then:

aA[l —v+ Bexpler)] ifer >0
Vi) = 2
aAl —v+f] ife; =0

8Although coordinatioris never guaranteeahe conditionsnecessarfor coordinatioraremorelik ely to be satisfiedwhenthere

is auniqueequilibrium.



where o denotesthe constantfraction of the realizedsurplusgoing to the entrepreneurg is the time-
discountfactor commonto the parents.Theterm a(1 — v) A denoteshe representate’s entrepreneus’
period0 surplusnetof theamountayA, investedin the acquisitionof the skill-intensve technology The
term aSAexp(e;) is the presentdiscountedvalue of the period 1 surplusaccruedto the representate

entrepreneur

Ontheotherhand,if therepresentate entrepreneuchoosesotto invest(i.e. v = 0), thevaluefor herof

playingthis stratgy is givenby:
V(0)=aA(1+5), 3)

whatever the stratgy playedby therepresentaie parent.SinceV (0) > aA[1 — v + 3], if therepresenta-
tive parentplaysthe stratgy e; = 0, therepresentate entrepreneus’ bestresponseés to play 4 = 0. And

aslongase; satisfiedexp(e;) — 1] 8 > v, u = 1 is therepresentate entrepreneus’ bestresponse.

3.3 Equilibria
Lety = [exp(1) — 1] 8. We arenow readyto statethefollowing proposition:

Proposition1 Letassumptiori hold. (i) If v > %, there existsa uniquepure strategy NashEquilibrium,
wheee no agentinvests(i.e., p = 0 ande; = 0). (ii) If v = 0, there existsa uniquepure strategy Nash
equilibrium,wheee bothtypesof agentsinvest(i.e. . = 1 ande; = 1). (iii) If 0 < v < 1, there existtwo

pure strategy Nashequilibria, onewhele no agentinvestsand onewhere bothtypesof agentsinvest.

Proof. Theprooffollows from assumptiori. m

In caseof a uniqueequilibrium,thoughcoordinationis not guaranteedt requiresmuchfewerassumptions
thanin the caseof multiple equilibria. All thatis neededor a coordinationof expectationsand actions
towardstheuniqueequilibrium,is thatplayersberationalandthattherationalityof otherplayershbecommon
knowledge. Sincetheseassumptionsre typically madein economicswe will ignore the coordination
problemsin caseof a singleequilibrium. In thefollowing sectionwe discusghepolicy implicationsof our

results.

4 Policy implications and concluding remarks

Ourresultsreadasfollows: if the costof investingin skill-intensive technologyis eitherprohibitive or nil,

thenonly oneequilibrium exists, with no investmentin the first case andinvestmentn the second.If the

9



costof suchinvestmenis reasonableomparedo its future returns,thentwo equilibria standout, oneis a
no-education/no-irestmenm equilibrium,the otheroneis Paretosuperiorandcharacterizety bothtypesof
investmentsThere theproblemof coordinationis atits peak.We have all reasongo believe thatinvestment
in skill-intensive technologyis seldombeingmadein Africa [World Bank(2000)]. The stateof educatiorin
Africa is very poor[UNDP (1994)] andchild laboris alundant[InternationalLabor Organization(1998)].
Giventhebulk of evidenceon thesefacts,we amguethatparentsandpossibleinvestorshave formedbeliefs
consistentvith thesdacts,in which casecoordinatiorwill take place but actionsandbeliefswill bedirected
towardsthe Paretoinferior equilibrium. As we have aguedin the introduction,this equilibriumis alsothe
statusquofor mary African countries.Moreover, a playerwho deviatesfrom this equilibriumassumesill
therisks. For all thesereasonswe think thatthe Paretoinferior equilibriumis themostlikely in absencef

governmentalintervention.

The governmentcanexert a key role in helping expectationgo coordinate. Compulsoryeducationbans
on child laborandinvestmentubsidiesarethreeinstrumentsat its disposal.On the onehand,compulsory
educatiomandbanson child labor, will help senda signalto possibleinvestorsthatinvestmentsn human
capitalarein the procesof beingmadeandthat highly skilled laborwill beavailablein the future. Invest-
mentsubsidiespn theotherhand,canmodify parents’perceptiorthatfirms arenotinvestingin skill-biased

technology

We investigatethe usefulnes®f eitherinstrumentdependingn the setof equilibria. Legislatve interven-
tion alone,eitherin theform of a banor of compulsoryeducationwill be counterproductve in case(i) of
Propositionl, thatis if the costof investments very high. Instead aninterventionthat suficiently subsi-
dizestechnologyadoptionandimposessompulsoryeducatiorcanjolt theeconomyfrom thebadequlibrium
to thegoodone. In that casefor example,a subsidyequalto «, if implementablewill be suficient to take
theeconomyfrom the ‘bad’ equilibriumwhereno oneinveststo the‘good’ onewherebothtypesof agents
invest. On the otherhand,a subsidythatis just large enoughto bring the adoptioncostswithin the inter
val (0, (exp[(1 — a)A — 7] — 1) 8] can,whenaccompanieavith compulsoryeducatiorlaws, alsojolt the

economyfrom the ‘bad’ equilibriumto the‘good’ one.

In casq(ii) of Propositiorl, legislative interventionis redundantyhile thislegislationalonecanbesuficient
in case(iii). In case(iii), moving to make educationrcompulsorywill sendthe signalto entrepreneurthat
humancapitalwill be availablein period1, which will inducethemto investin acquiringskill-intensive

technologies.

Note that all theseresultsrely on assumptioril, which guaranteeshat survival is not anissuein this en-
vironment. If this assumptionrdoesnot hold, it is not clear that either subsidizingtechnologyadoption

or imposingcompulsoryeducationcan successfullycoordinateinvestmentdecisionssinceparents,n this
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caseneedchild laborto ensuresurvival. To move away from a poverty trap,a minimumrequirements that

familiesneednotfocuson survival.
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